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(1) R=SvIHR

o5 LR o9 %= %qu,g/*g% jié%’iﬂr(\ﬁﬁﬁﬁ(m/ m3)
FEHEHNT RIS | 2021465 4y
A 0m’75H20m* £ T 735.46 140.76 130.51
B 20m°% = 2 80m°F T 1,022.38 126.42 116.17
C 80m’ %= 2 200m £ T 1,193.39 124.28 114.03
D 200m* %= 2 500m° £ T 1,833.02 121.08 110.83
E 500m*4 = 2 800m* £ T 6,100.61 112.54 102.29
F 800m’ &= 2 DA 12,065.05 105.09 94.84
(2) BPHOIEHIHR
e LA 9 = (%qux/ﬁq% \\?ié%ﬁfﬁ%ﬁﬁ(m/m@
FEUEHLT R4 | 20214E5H 4y
A 0m’75H20m £ 759.00 145.20 134.95
B 20m° %A= 2 80m° £ T 1,056.00 130.35 120.10
C 80m* %= 2 200m £ T 1,232.00 128.15 117.90
D 200m*% = % 500m° £ T 1,892.00 124.85 114.60
E 500m*4 = 2 800m* £ T 6,292.00 116.05 105.80
F 800m’ &= 2 DA 12,452.00 108.35 98.10
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e LR 09 = (gmjg/;[:,%/i; Qﬁt‘%ﬂﬁfﬁﬁfﬂﬁ(m/ m3)
FEVERADELE | 202145 A 47
A 0m*7520m* £ T 759.00 145.20 134.95
B 20m* % 2 DBA 1,485.00 108.90 98.65
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20204E12 ] ~ SEHILNGAH R 44,960 [,/
zozgfiﬂo> SEHILPGATAS 56,070 4,
e T UEH 45,680 11,1
LY 2 JFURHi A 57,250 ./t

Uk




